Four-Year Undergraduate Examination, 2024
Semester 11 (NEP)
Ability Enhancing Compulsory Course: AECC 02 - English
(For Regular Candidates)
Time: Three Hours Full Marks: 40
Questions are of equal value
Answer any four questions of the following

1. Write an application to the Registrar. Visva-Bharati with your detailed CV for the job of
a typist.

2. Write an application to the Principal of your Bhavana seeking permission for organizing
a cricket match in your Bhavana.

3. Write a letter to the Editor of a newspaper regarding load-shedding in your locality.

4. What 1s Communication? Write on any two types of communications with suitable
examples.

5. Write an essay on any one of the following:
a) Tagore’s idea of education b) Use of internet for entertainment ¢) Importance of a

library in academic institution. d) Your favorite author e) Your aim in life.

6. Write a summary of the given passage:

Plato is the earliest important educational thinker. and education is an essential element in
The Republic (his most important work on philosophy and political theory. written around
360 B.C.). In it. he advocates some rather extreme methods — removing children from their
mothers' care and raising them as wards of the state, and differentiating children suitable to
the various castes, the highest receiving the most education. so that they could act as
ouardians of the city and care for the less able. lle believed that education should be
holistic, including facts, skills, physical discipline. music and art. Plato believed that talent
and intelligence are not distributed genetically and thus can be found in children born to all
classes. although his proposed system of selective public education for an educated minority
of the population does not really follow a democratic model.

Aristotle considered human nature, habit and reason to be equally important forces to be
cultivated in education. the ultimate aim of which should be to produce good and virtuous
citizens. He proposed that teachers lead their students systematically. and that repetition be
used as a key tool to develop good habits. unlike Socrates' emphasis on questioning his
listeners to bring out their own ideas. He emphasized the balancing of the theoretical and
practical aspects of subjects taught, among which he explicitly mentions reading. writing.
mathematics. music. physical education. literature, history. and a wide range of sciences, as
well as play. which he also considered important.
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Undergraduate Examination - 2024
Semester-II
Tagore Studies
(For CBCS Regular and Back candidates)

Time: 3 Hours Full Marks: 40

10.

a)

b)

c)
d)

£
g)

h)

i)

k)

m)
n)

Questions are of value as indicated in the right-hand margin.
Question Number 10 is compulsory. Answer any 3 (three) from the rest.

Write on two happy experiences as narrated by Tagore in the prose excerpt, “Morming Songs™. 10
Write in your own words how Tagore elaborates upon his love for the earth in the text “The Earth™.
10
Discuss the central theme of the essay, “Asrama education’. [0
Analyse Tagore's views on imparting education through mother tonguein his essay, “Education for
Rural India™. 10
Discuss how Tagore expresses his profound respect for Gandhiji in the prose piece “Mohandas
Karamchand Gandhi™. 10
Elucidate, based on the essay, “Buddhadeva.” why Tagore considers Buddhadeva as “the greatest
man ever born on this earth.’ 10
How areTagore’s contrasting ideasabout the “Indian” and the “European civilisation® brought out in
the essay “The Message of India’s History™? 10
Discuss Tagore’s views,as developed in the essay “Music and Feeling,”on theimportanceof feeling in
music. 10
Discuss briefly, according to Tagore, the steps neededto spread education in our countryin the essay
“The Diffusion of Education™. 10
Answer any fen (10) questions from the following in complete sentences. 10x1=10

“I love, but I cannot protect.” — Whose mind feels thus?

In “The Message of India’s History”, is Indian civilization —based on "negotiation’ or a “sense of
harmony’?

“At one time our rural society was living.” In which essay does Tagore say this?

Name the great personality Tagore calls a man of ‘auspicious birth’.

“He is a man and no machine.” Who is here referred to as *he” by Tagore?

“Conquer anger by compassion.” Tagore quotesthis as a message of a great man. Name him.

“The country at large lies outside the modern school.” In which essay does this sentence occur?
“None but those who have the spirit of forbearance are fit to be teachers.” In which text of your
syllabus do you find this observation?

Name the original text from which the excerpt “The Earth™ is taken.

“He never cheated man of the greatest gift that one can give to another — the gift of respect.” Who is
‘he’?

“We look for the man afier our heart.” In which text does this sentence occur?

“We live in the same country and yet we do not belong to the same country.” In which text of yours
is this view to be found?

... the poem... gushed forth and coursed on like a veritable cascade.” Name the poem.

“It must be borne in mind that the supreme test of manhood lies in battling against inner enemies...”
In which essay of your textbook. /ntroduction to Tagore. is the tapovana of ancient India
mentioned?
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B.A. (Honours) Examination,2024
Semester—Ii
Subject: Economics( CBCS)
Course-CC-3 ((Introductory Macroeconomics)

Time: 3 hours Full Marks: 60

Qs. 1.

Qs. 2.

Qs. 3.

Questions are of value as indicated in the margin

Answer any EIGHT questions from the following: 2X8=16

(a) How do you derive Personal disposable income(PDI) from GDP at market prices?

(b) Define GDP and differentiate potential GDP from actual GDP.

(c) What do you mean by injections and leakages in a circular flow of income? Give examples.

(d) Differentiate GDP deflator from Consumer price index(CPI)

(e) How do you derive a saving function from a linear consumption function?

(f) For a linear consumption function C =a + b¥; >0, 0<b<1 Comment on the relationship between APC and MPC.
(g) than or equal to 1, then what problem arises in determination of equilibrium output? Show by using diagrams.
(h) Why did Keynes assume prices to be fixed in short run?

(i) What is the difference between autonomous consumption and induced consumption?

(j) Why do people hold idle cash balances according to Keynes?

(k) Briefly explain Fisher’s ‘Quantity Equation of Exchange’.

(I) Define IS curve and draw the curve.

Answer any FOUR questions from the following: 5X4=20

(a) For C=a+bY and I=], Derive the equilibrium Yg. How does Inventory adjust to maintain Y.

(b) Explain a three sector Circular Flow of Income.

(c) Derive autonomous investment multiplier in a two sector Keynesian model. Explain with diagrams.

(d) “Multiplier cuts both ways”. Justify the statement with appropriate diagrams.

(e) Write a note on ‘Say’s Law of Markets”

(f) Interpret the points which are not on the IS curve.

(g) Write a note on Cambridge’s version of QTM.

(h) Explain the situation of “Liquidity trap”. Which policy do you think would be effective in such a situation?

Answer any TWO questions from the following: 12X2=24

(a) (i) Assume that in a hypothetical economy GDP is RS. 7000, Gross investment is Rs. 800, Net Investment is
Rs.550, Consumption is Rs. 4500, Govt. Expenditure is 1100 and budget surplus is Rs. 30. Find NDP, net exports,
Govt. taxes minus transfers, disposable income and personal saving.

(ii) Briefly discuss the three measures of GDP. 6+6=12

(b) (i) Suppose C =10 + % Y¢, t = 10%, I,= G, = 10 . Find the equilibrium income. Calculate the impact on
equilibrium if the tax rate raised to 20 percent and autonomous consumption falls to 5. 4+4+4=12

(c) (i) How would you derive the classical AS curve? How would you derive the classical AD curve?
(ii) Write a note on “ Loanable Funds” theory of Interest. 8+4=12

d) (i) Derive the equation of the IS curve and interpret the slope of the curve.
(ii) Derive the equation of the LM curve and interpret the slope of the curve. 6+6=12



B.A. (Honours) Examination, 2024
Semester - 11 (CBCS) [For Back Candidatesj
Subject: Economics
Course: CC-04 (Mathematical Methods for Economics - II)

Time: 3 Hours Full Marks: 60
Questions are of value as indicated in the margin
Answer any four (04) of the following questions

1. Find the critical point(s) of the functions and use the second partials test to determine the behaviour of the
functions at each critical point, whether there is a maximum, minimum, saddle point or none of these:

@) f(x,y) = 3x* = 2xy + y* -8y

®) f,y)= y*+xy+2x+3y+3 7.5x2=15

2. Find the Linear and Quadratic approximations of the following functions of x and y near the given points:

(@) f(x,¥) =log(x* +y* + 1), P(0, 0)
(b) f(x,y) = eYcosx, P(0, 0) 7.5x2=15

3. (a) Derive the optimum value function:
Maximise: Y = LO4K%6, Subject to: 60 = 4L + 15K
(b) State the Kuhn-Tucker conditions if the above maximization problem faces two following constraints:
(1)60=>4L+ 15K (i) L = K 9+6 =15

4. In case of the following equation, show that the optimum value functions depend on parameters and then
verify the Envelop theorem (all symbols follow their usual meanings):

(a) f(x) = x* + 6px + 2p*

(b) f(x,¥) = —0.04x? + 0.01xy — 0.01y% + 9x + (p — 2)y — 500 : 6+9 =15

5. Derive the first order conditions, second order conditions and Bordered Hessians in order to optimize the
following problems:
Maximise: U = U(x, y), Subject to: M = P.X + P,Y; where all symbols follow their usual meanings. 15

6. (a) Define an ‘Orthogonal Matrix’. Find a 2x2 orthogonal matrix whose first row is a multiple of (1,2).
(b) Define an ‘Symmetric Matrix’. Find x, y, z such that ‘A’ is symmetric, when:

Z x 3
A=l4 5 vy
g 1 7
(c) Find the inverse of a matrix A =[i g]
(d) Let B = [216 207], find matrix A such that A% = B. A+4+4+3 = 15

7. (a) Write A :[i g] as the sum of a symmetric matrix B and a skew-symmetric matrix C.

0 1 2
(b) Compute the Adjoint of a matrix A=|2 0 1} and hence the inverse of A.
1 2 0
(c) Solve the equation by matrix method: 2x — 3y = 5and 3x — 4y = 6. 4+7+4 =15
bc a a*] [1 a* d°
8. (a) Prove without expanding that [ca b bz] =[1 b? bﬁ
ab ¢ Al 11 & ¢
(b) Prove that x = 1 is a solution to the equation below:
x+1 3 5
2 X+ 2 5
2 a x+4
(c) Solve by Cramer’srule: 4x —y = 9 and 5x + 2y = 8. 5+5+5 =15

3k sk ok sk ok ok
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Undergraduate Examination, 2024
Semester — I1 (NEP)
CVAC - Environmental Studics
Time: 3 Hours Full Marks: 60
Answer may be attempted cither in English, Bengali or Hindi
Questions are of value as indicated in the margin
I. Choose the most appropriate answer: 1x20=20

1. The book “Silent Spring”™ was written by:
a) Ralph Emerson  b) IHenry Thoreau ¢) Aldo Leopald  d) Rachel Carson

2. Who was associated with Narmada Bhachao Andolan?
a) Anil Agarwal b) Sunderlal Bahuguna c¢) Mectha Patkar  d) M C Mchta

3. Which of the following is a traditional rainwater harvesting system in India?
a)  Chak by Medhbandi  ¢) Johad d) All of the above
4. Ozone in Stratosphere is measured in a unit called as:
a) Dobson b) Decibel ¢) Richter d) Pascal

L

. The Nilgiri biosphere reserve is located in the state of .
a) Tamil Nadu b) Maharashtra ¢) West Bengal d) Bihar

6. The kinds of organisms variability of species within a community is known as :
a) Genetic diversity b) Biological diversity c¢) Species diversity d) Ecosystem diversity

7. Brikha Ropan (Tree plantation) festival in Santiniketan is celebrated on:
a) 22nd Sravan b) 25th Baisakh ¢) 23rd Sravan d) None of' these

8 . Which of the following district of West Bengal is affected by fluoride pollution?

a) Malda b) Murshidabad ¢) Nadia d) Birbhum
9. Match the following endangered animals to their conservation areas.
A. Red Panda i} Delhi Zoo
B. Golden Langur i) Guwahati Zoo
C. Pygmy Hog iii) Padmaja Naidu Himalayan Zoological Park
D. Manipur Brown Antler Deer iv) Manas National Park

a) A-ii, B-iv, C-1, D-111 b) A-iii. B-ii, C-i, D-1v
c) A-tti. B-iv, C-ii D=1 d) A-iii. B-iv, C-1, D-ii.

10. The first order consumers are .
a) Carnivores b) Herbivores ¢) Omnivores d) Detritivores

11. World Hiroshima Day is observed on

a) September 21 b) August 6 c)-F_e_hruarv\-' 2 d) April 22
[2. Globally there are Megadiverse countries. which were identified by UNEP.
a) 12 b) 17 c) 25 d) 30

I3. Wildlife (Protection) Act was enacted in the vear _ .
a) 1958 by 1972 ¢) 1990 d) 1993



(4
14, [tai-itai disease is caused due to poisoning of -
a) Mercury b) Cadmium ¢) Lead d) Chromium

15. Water covers 70% of the earth’s surface but anly % (by volume) of this is freshwater.
a) | b) 3 c).2 d) 3

16. Which of the following is a not a Natural World Heritage site in India?
a) Kaziranga in Assam b) Bharatpur in Rajasthan.,
¢) Nanda Devi in the Himalayas d) Panchmarhi Biosphere Reserve

17. Which one of the following is not a vector borne disease?

a) Cholera b) Dengue ¢) Chikungunya d) Malaria

18. Montreal Protocol aims to reduce the _

a) CO;, b) SO, ¢) CFC d) NO,

19, India uses % of its water for agriculture purposes.

a) 70 b) 65 ¢) 90 d) 55

20. The permissible noise level during night time in an industrial area is (as per CPCB):

a) 45dB b) 55dB ¢) 70dB d) 75dB

11. Write the Full form of: 1'X 5 =3

I. UNEP 2. UNESCO 3. WHO 4. CITES 5. WWF

II1. Fill in the blanks: 1x5=5

[ ~ Pyramid is always upright.

2. The only place in the world where you can see Asiatic Lion in natural place 1s “national
park.

3. The person behind Chipko Andolan is .

4. The chemical responsible for ozone depletion in stratosphere is

A

. The major nuclear accident occurred in Ukraine is _
IV. Answer any Five (5) of the following questions :

b2
X
o
A
=

. Name two governmental agencies which work on environmental issues.

. Define ecosystem.

Name two causes for loss of biodiversity.

. What is acid rain?

. What are in-situ and ex-sifu conservations?

. What is Joint Forest Management?

. What is urbanisation?

. Name two rencwable energy resources.

V. Answer any Four (4) of the following questions: 4x5=20

=] Oy A el D —

sl

. What are the effects ot ozone layer depletion on the environment?
. Why is Environment Studies called a multidisciplinary subject?

. Discuss how as an individual you can protect the environment.

. Draw a food web of an aquatic ecosystem.

. How can make public awareness to protect the environment?

L

L

o

5. What are the effects of overpopulation on the environment?
. Discuss goods and services provided by the forest.

-~

8. Discuss the Tagore’s concept of environment.
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Ref. No./VB/EXAM/REG/02/UG/ECO./Sem-11/35432/2024

B.A. (Honours) Examination-2024
Semester-II
Generic Elective Course: GEC-2 (CBCS)
Subject: Political Science

(Political Theory-II)

Time: 3 Hours Full Marks: 60

Questions are of value as indicated in the margin
Answer any four questions (15x4=60)

Examine Rabindranath Tagore’s concept of nationalism. (15)

Critically examine the power relations in the society with Elite Theory of Power.

(15)
What does B.R. Ambedkar propose in his “Annihilation of Caste™? (13)
Discuss the mechanisms and principles of a liberal democracy. (5+10)

Examine the concepts of liberty and equality in political theory. How is liberty and

equality interrelated? (7.5+7.5)
)

4]

Discuss in detail Mahatma Gandhi’s concept of Satyagraha? (1
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Four Year Undergraduate Programme-Economics(Major),2024
Semester—I1/2024
Subject: Introductory Macroeconomics
Course-MJEC03

Time: 3 hours Full Marks: 80

Qs. 1.

Qs. 2.

Qs. 3.

Questions are of value as indicated in the margin

Answer any SIX questions from the following: 4X6=24

(a) How do you derive Personal disposable income(PDI) from GDP at market prices?

(b) Define GDP and differentiate potential GDP from actual GDP.

(c) What do you mean by injections and leakages in a circular flow of income? Give examples.

(d) Differentiate GDP deflator from Consumer price index(CPI)

(e) How do you derive a saving function from a linear consumption function?

(f) For alinear consumption function C =a + bY; a>0, 0<b<l Comment on the relationship between APC and MPC.
(g) Why did Keynes assume prices to be fixed in short run?

(h) What is the difference between autonomous consumption and induced consumption?

(i) Draw the AD function in a two sector Keynesian economy.

(j) What are the factors which cause a labor demand function to shift its position?

(k) What are the factors which do affect the output and employment in a classical economy ?Briefly explain
(1) Explain the Fisherian “Quantity Equation of Exchange”.

Answer any FOUR questions from the following: 6X4=24

(a) For C=a+ bY and I=], Derive the equilibrium Yg. How does Inventory adjust to maintain Y.

(b) Explain a three sector Circular Flow of Income.

(c) Derive autonomous investment multiplier in a two sector Keynesian model. Explain with diagrams.

(d) Show that increase in govt. expenditure is more expansionary than an equal increase in transfer payments in SKM.

(e) Write a note on ‘Say’s Law of Markets”

(f) Explain the equilibrium in classical labor market.

(g) Write a note on Cambridge’s version of QTM.

(h) What is “Paradox of Thrift”. Explain the concept while (i) Investment is autonomous (ii) investment is a positive
function of income.

Answer any TWO questions from the following: 16X2=32

(a) (i) Assume that in a hypothetical economy GDP is RS. 7000, Gross investment is Rs. 800, Net Investment is
Rs.550, Consumption is Rs. 4500, Govt. Expenditure is 1100 and budget surplus is Rs. 30. Find NDP, net exports,
Govt. taxes minus transfers, disposable income and personal saving.

(ii) Briefly discuss the three measures of GDP. 10+6=16

(b) (i) How is equilibrium output determined in a closed economy with government? Explain with appropriate
diagrams.
(ii) Briefly discuss the three measures of GDP. 10+6=16

© (i) Suppose C =10 + % Y, t = 10%, l= Go = 10 . Find the equilibrium income. Calculate the impact on

equilibrium if the tax rate raised to 20 percent and autonomous consumption falls to 5 6+5+5=16

(d) (i) How would you derive the classical AS curve? How would you derive the classical AD curve?
(ii) Write a note on “ Loanable Funds” theory of Interest. 10+6=16



Four Year Undergraduate Programme - Economics (Major)
Semester - 11 Examination, 2024
Subject: Economics (Major)
Paper: MJEC04
(Mathematical Methods for Economics IT)

Time: 3 Hours Full Marks: 80
Questions are of value as indicated in the margin :
Answer any four (04) of the following questions

1. Find the critical point(s) of the functions and use the second partials test to determine the behaviour of the
functions at each critical point, whether there is a maximum, minimum, saddle point or none of these:

(@) f(x,y) = 3x* — 2xy + y> — 8y

®) fl,y)=y*+xy+2x+3y+3 10+10=20

2. Find the Linear and Quadratic approximations of the following functions of x and y near the given points:

(a) f(x,y) =log(x* +y* + 1), P(0, 0)
(b) f(x,y) = eYcosx, P(0, 0) 10+10=20

3. (a) Derive the optimum value function:
Maximise: Y = L0*K %6  Subject to: 60 = 4L + 15K
(b) State the Kuhn-Tucker conditions if the above maximization problem faces two following constraints:
(1)60=>4L+ 15K (i) L =K 12+8 =20

4. In case of the following equation, show that the optimum value functions depend on parameters and then
verify the Envelop theorem (all symbols follow their usual meanings):

(@) f(x) = x? + 6px + 2p?

(b) f(x,y) = —0.04x? + 0.01xy — 0.01y? + 9x + (p — 2)y — 500 8+12=20

5. Derive the first order conditions, second order conditions and Bordered Hessians in order to optimize the
following problems:
Maximise: U = U(x,y), Subject to: M = P..X + P,Y; where all symbols follow their usual meanings. 20

6. (a) Define an ‘Orthogonal Matrix’. Find a 2x2 orthogonal matrix whose first row is a multiple of (1,2).
(b) Define an ‘Symmetric Matrix’. Find x,y,z such that *A’ is symmetric, when:

Z x 3
A=[4 5 y
z. L .2
: . .. B 3
(c) Find the inverse of a matrix A —[ 4 2].
(@LetB=[ " 1. find matrix A such that A° = B. 5+5+5+5 = 20
26 - 27
7. (a) Write A =B 2] as the sum of a symmetric matrix B and a skew-symmetric matrix C.
0 1 2
(b) Compute the Adjoint of a matrix A=|2 0 1| and hence the inverse of A.
1 2 0
(c) Solve the equation by matrix method: 2x — 3y = 5and 3x — 4y = 6. 6+8+6 =20
‘ bc a a*] [1 a* d*]
8. (a) Prove without expanding that |[ca b b?|=[1 b* b3
ab ¢ ¢l 11 & ¢
(b) Prove that x =1 is a solution to the equation below:
X1 0 5
2 X o d 5
: r 3 x+4
(¢) Solve by Cramer’s rule: 4x —y = 9and 5x + 2y = 8. 7+7+6 =20

sk ok ok sk ok %



Four Year Undergraduate Programme
B.A. Examination, 2024
SEMESTER-II
Subject: Economics (Minor) under NEP
Course;: MNECOI (Introductory Microeconomics)
Attempt any Four from the following
Time: 3 Hours Full Marks: 80

1. (a) What are the properties of the indifference curve?
(b) With the help of the indifference curve (IC) and the budget line (BL), explain how the
Optimum choice between two goods (X and Y) is made.
(c) How is Giffen good defined in terms of substitution effect and income effect? Explain.
(4+6+10=20)
2. (a) What are the assumptions of a perfectly competitive market?
(b) Explain the short-run and long-run equilibrium of a firm in a perfectly competitive market.
(6+14=20)
3. (a) What are the ten fundamental principles of economics?
(b) Explain any four of the fundamental principles of economics.
(10+10=20)
4. (a) Define and explain the law of demand and law of supply with the help of diagram.
(b) Explain consumer surplus (CS) and producer surplus (PS) with a diagram.
(¢) In this context explain the welfare implications of imposing GST on a good.
(5+7+8=20)
5. (a) Define own price, cross price and income elasticity of demand. Draw the perfectly elastic
and perfectly inelastic demand curve a good.
(b) How would you classify the type of goods by application of income elasticity?
(c) How is point elasticity different from arc elasticity? Explain.
(10+35+5=20)
6. (a) Explain the three stages of production of a firm. Why does a rational entrepreneur operate
in the Second stage of production process?
(b) How is average cost (AC), average variable cost (AVC), average fixed cost (AFC) and
Marginal cost (MC) of a firm is calculated? Explain with the help of a diagram.
(10+10=20)
7. (a) What is meant by price discrimination in economics?
(b) What are its types? Briefly explain them with the help of diagrams.
(¢) How is monopolistic market different from monopoly market?
(4+12+4=20)
8. Consider a demand equation Qg =4 - 0.8P and a supply equation Q= 1.5 + 0.7P.
(a) Find the equilibrium value of Q and P in the market.
(b) What would be the absolute value of own price elasticity of demand when the market is
in equilibrium?
(¢) What would be the value of consumer surplus (CS) when the market is in equilibrium?
(5+7+8=20)



Ref. No./VB/EXAM/REG/02/UGNEP/Programme Economics/Sem-T1/35816/2024
Undergraduate Examination-2024
Semester-11
MNPS01 (NEP)
Subject: Political Science

(Political Theory-I)

Time: 3 Hours Full Marks: 80
Questions are of value as indicated in the margin

Answer any four questions

(20x4=80)

1) Critically examine the power relations in the socicty with the Elite Theory of Power.

(20)

2) Examine the concepts of liberty and equality in political theory. How is liberty and

equality interrelated? (10+10)

3) With reference to Hobbes, Locke and Rousseau. explain the Mechanistic theory of State.

(20)

4) Elucidate the concept of feminism as an ideology. Discuss Gandhism as an ideology?

(10+10)
5) Examine law. What are the various sources of law? (10+10)

6) Examine John Austin’s theory of sovereignty. What is popular sovereignty?  (15+5)



Four Year Undergraduate Programme - Economics (Major)
Semester—II Examination, 2024
Course: SEEC 02
(Statistical Methods - II)
Time: Three Hours

Full Marks: 60
Questions are of value as indicated in the margin
Answer any four questions

1. (a) State whether the following expressions are true or false

(with reason) 3x3=9
()P(ANB)+ P(AUB) = P(4) + P(H)
(i) If A and B are mutually exclusive cvents, then P(B) = 1 — P(4)
(i) P(ANB) < P(A) + P(B)

(b) When two events are said to be mutually independent? Prove that if two events (none of
them being impossible events) are mutually exclusive, then they cannot be independent events,
and if the events are independent, they cannot be mutually

exclusive, 6
2. (a) There are 3 White and 4 Black balls in a box. Two balls are randomly taken out one after
another without replacement. Find the probability of
(i) One ball is white and the other is black
(iii) The first ball is white and the second ball is black
(b) If the letters of the word ‘FIRST are arranged randomly, what is the probability that the
arrangement does not end with ‘S’ or *T°?

(c) Probability of solving a particular problem by student A is 0.5 while that by student B is 0.3
If both of them try independently, what is the probabil

ity that the problem will be solved?

K o
3. (a) In a gamble, participation fee is Rs. 10. The participant is allowed to toss a coin three times.
For every “head’, he wins Rs. 10. Is it rational for someone to participate in the gamble? Explain
your answer with a statistically valid logic.
(b) State and prove Bayes’ Theorem., 6+9
4. (a) An experiment succeeds twice as often as it fails. What is the probability that there will be at
least one success in six trials?
(b) If y represents the proportion of success in a series of Bernoulli trials, then find the maximum
value of the standard deviation of y . 649
[P.T.O]



5. (a) For a Poisson distribution, P(x = 0) = P(x = 1). Find the probability that the Poisson
variable will have a non-zero value. [Givene™" = 0.368 ]

(b) Derive the mean and variance of a Poisson distribution using its Moment Generating
Function. 6+9

3
6. (a) Consider the function: f(x) = x: ; forlgx sl

=0 Otherwise
Do you think f(x) satisfies the conditions that are required to be a probability density function?
If so, find out the expression of the cumulative distribution function corresponding to f(x).

(b) A die is tossed 1200 times. Find the probability that the number of ‘sixes’ lies between 190

and 210.
[Given that the area under sta
7=0 and z=0.81 is 0.029]

ndard normal curve between z=0 and z=0.78 is 0.028 and between
6+9

7. (a) Distinguish between parameter and statistic with examples.
(b) What do you mean by simple random sampling (SRS)? Distinguish between SRS WR and
SRSWOR. ‘

(c) Suppose there are 150 current students in the Department of Economics & Politics in Visva-
Bharati. How many random sample of 15 students can be drawn from the Department under

SRSWR and under SRSWOR? [formula only]
(d) In the context of part (c) of this question, suppose you want to draw the random sample of 15
students following SRSWOR ensuring equal representation of all five years (UG and PG).

Explain how you can do that assuming each class has 30 students.
4+4+4+3

8. (a) What do you mean by sampling distribution of a statistic? Explain with an example.

andom sample of size n is drawn from a population of size N with replacement.
If X represents the

6+9

(b) Suppose ar
The population mean and variance are known to be it and o respectively.

sample mean, derive E(X) and Var(x).

o
e



(3)

Undergraduate Examination, 2024
Semester — 11 (CBCS)
AECC-2
Environmental Studies
(For Regular and Back Candidates)

Time: 2 Hours Full Marks: 25
Answer may be attempted either in English, Bengali or Hindi
Questions are of value as indicated in the margin

[. Choose the most appropriate answer: 0.5%x20=10
I. The book “Silent Spring” was written by:
a) Ralph Emerson  b) Henry Thoreau c¢) Aldo Leopald d) Rachel Carson
2. Who was associated with Narmada Bhachao Andolan?
a) Anil Agarwal b) Sunderlal Bahuguna  ¢) Metha Patkar d) M C Mehta
Which of the following is a traditional rainwater harvesting system in India?
a) Chakt b)) Medhbandi c¢) Johad d) All of the above

4. Ozone in stratosphere is measured in a unit called as:

Lad

a) Dobson b) Decibel ¢) Richter d) Pascal
5. The Nilgiri Biosphere Reserve is located in the state of . :
a) Tamil Nadu b) Maharashtra c) West Bengal d) Bihar

6. The kind of organisms variability of species within a community is known as

a) Genetic diversity  b) Biological diversity c¢) Species diversity d) Ecosystem diversity

7. Brikha Ropan (Tree plantation) festival in Santiniketan is celebrated on

a) 22 Sravan b) 25" Baisakh ¢) 239 Sravan d) None of these
8 . Which of the following district of West Bengal is affected by fluoride pollution?
a) Malda b) Murshidabad c) Nadia d) Birbhum
9. Match the following endangered animals to their conservation areas,
A. Red Panda 1) Delhi Zoo
B. Golden Langur i1) Guwahati Zoo
C. Pyegmy Hog i1) Padmaja Naidu Himalayan Zoological Park
D. Manipur Brown Antler Deer 1v) Manas National Park
a) A-ii, B-iv, C-i, D-iii b) A-iil, B-11, C-1, D-iv
¢) A-iit, B-iv, C-ii, D-i d) A-iii, B-iv, C-i, D-ii.

10, The first order consumers are

a) Carnivores b) Herbivores ¢) Omnivores d) Detritivores
1. World Hiroshima Day is observed on

a) September 21 b) August 6 ¢) February 2 d) April 22
12 Globally there are Megadiverse countries, which were identified by UNEP,

a) 12 b) 17 ¢) 25 d) 30

S



17

18.

_Wildlife (Protection) Act was enacted in the year

L ) —

(4)

a) 1958 b) 1972 ¢) 1990 d) 1995

_Itai-itai disease is caused due to poisoning of ,
a) Mercury  b) Cadmium c¢) Lead d) Chromium
Water covers 70% of the earth’s surface but only % (by volume) of this is freshwater.
a) 1 b) 3 c) 2 d) 3
. Which of the following is a not a Natural World Heritage site in India?
a) Kaziranga in Assam b) Bharatpur in Rajasthan.,
¢) Nanda Devi in the Himalayas d) Panchmarhi Biosphere Reserve
Which one of the following is not a vector borne disease?
a) Cholera b) Dengue ¢) Chikungunya d) Malaria
Montreal Protocol aims to reduce the .
a) CO» b) SO; ¢y CEC d) NO,
Indiauses % ofits water for agriculture purposes.
a) 70 b) 65 ¢) 90 d) 55
. The permissible noise level during night time in an industrial area is (as per CPCB):
a) 43dB b) 55dB ¢) 70dB d) 75dB
Fill in the blanks : 1% 5

|. The full form of UNEPis

2. The full form of UNESCO is
3 Pyramid is always upright.
4. The only place in the world where you can see Asiatic Lion in natural place is

national park.
5. The person behind Chipko Andolanis __

&=
X
i

Answer any Five (5) of the following questions:

Name two governmental agency which work on environmental issues.
Define ecosystem.
Name two causes for loss of biodiversity.

4, What 1s acid rain?

5. What are in-situ and ex-situ conservations?

6. What is Joint Forest Management?
What is urbanisation’?
8. Name two renewable energy resources.

=

Il

i
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Undergraduate Examination, 2024
Semester — I[1 (CBCS)
AECC-2
Environmental Studies
(For Regular and Back Candidates)
Time: 2 Hours Full Marks: 25
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Four Year Undergraduate Programme Examination, 2025
Semester —II (NEP)
Ability Enhancement Compulsory Course: AECC 02 —English

For regular and back candidates
Time: Two hours Full Marks: 40

All questions are of equal value
Answer any four questions of the following

1. Write an application with your detailed CV to the Principal of Patha Bhavana, Visva- Bharati,
Santiniketan for the post of a part-time English teacher.

2. Write in detail on any two types of communication with suitable examples.
3. Write a letter to the Editor of an English newspaper regarding the problem of increasing cybercrimes.

4. Write an application to your Head of the Department requesting for leave of three days due to medical
emergency.

5. Write a paragraph on any one of the following:

a) Child Labour, b) Importance of Newspaper Reading, ¢) Wildlife Conservation, d) Festivals in
Santiniketan, e) Your Favourite Book.

6. Write a summary of the given passage:

Throughout history, literature has played a crucial role during times of social, political, and personal
crisis. In moments of uncertainty and upheaval, people often turn to stories-not Jjust for escapism, but
for understanding, reflection, and emotional expression. Whether in the form of poetry, novels, or
drama, literature gives voice to collective fears and hopes, and provides a space to process complex
experiences

During wars and revolutions, for instance, writers have documented the trauma and resilience of people.
In the trenches of World War I, soldier-poets like Wilfred Owen and Siegfried Sassoon captured the
horror and futility of battle. Similarly, literature emerging from civil rights movements, postcolonial
struggles, or pandemics has shed light on marginalized voices and challenged dominant narratives.

In the face of crises, literature also fosters empathy. By stepping into the minds of characters from
different times, cultures, or circumstances, readers can broaden their understanding of human suffering
and survival. A novel about displacement can help someone grasp the reality of refugees. A short story
about loss can comfort a grieving reader. In this way, literature becomes both a mirror and a bridge-
reflecting our experiences and connecting us to others.

Moreover, literature encourages critical thinking. When societies face moral dilemmas or politica]
injustice, fictional works can question the status quo more subtly and safely than direct activism.

" Dystopian novels like 1984 or The Handmaid’s Tale serve as warnings, encouraging readers to stay
alert to authoritarianism, censorship, and loss of freedom. These texts do not merely entertain-they
provoke dialogue and resistance.

Ultimately, the enduring value of literature in times of crisis lies in its capacity to preserve humanity.
In a world often dominated by data, policies, and headlines, literature reminds us of individual voices,
personal struggles, and the emotional truths that statistics cannot capture. It becomes a vital thread in
the tapestry of collective memory and healing.



B.A. (Honours) Examination,2025
Semester—II (CBCS) For Back Candidates
Subject: Economics
Course-CC-3(( Introductory Macroeconomics)

Time: 3 hours Full Marks: 60

Qs. 1.

Qs. 2.

Qs. 3.

Questions are of value as indicated in the margin

Answer any eight questions from the following: 2X8=16

(a) Define stock variables and flow variables.

(b) How do you derive NNP at factor cost from GDP at market prices?

(c) Define nominal GDP and real GDP.

(d) Mention two problems you face while accounting NI via product method.

(e) What do you mean by leakages and injections in a Circular flow of income? Give examples.

(f) Define capital. What is meant by depreciation of capital?

(g) What is the difference between autonomous consumption and induced consumption?

(h) When does a saving function rotate anticlockwise? When does it shift?

(i) Interpret the Keynesian consumption function C=a+bY?. Do you need any restrictions on the
parameters ‘a’ and ‘b’?

(j) Why are prices assumed to be fixed in short run in Keynesian framework?

(k) Consider a project that costs Rs. 100 today (period 0) and yields Rs. 50 in period 1 and Rs. 70 in period
2.If the rate of interest is 10 percent; find the Net Present Value (NPV).

(1) Derive the relationship between the price of a perpetual bond (Py) and the rate of interest (r).

(m) When do IS and LM curves shift their position?

(n) What were mercantilists’ positions on government’s foreign trade policy?

(0) What are the basic features of classical position against the mercantilists?

Answer any five questions from the following: 4X5=20

(a) What is double counting in NI accounting? How do you avoid it? Clarify with an example.
(b) Write a short note on “Paradox of Thrift”.

(¢) Draw a circular flow of income in a closed economy without government.

(d) How is equilibrium income determined in a closed economy without government?

(e) Explain the four measures of money supply: M; M;,M; My,

(f) Explain Keynesian Liquidity trap. Which policy do you suggest would be effective?

(g) Write a note on crowding out effect. When will the effect be maximum?

(h) Write a noté on “ Loanable Funds” theory of Interest

(i) Write a note on the Fisher’s ‘Quantity Theory of Money’(QTM).

Answer any two questions from the following: 12X2=24

(@ (@ IfC =20+ 09 Y and I, = 70, what is the level of unplanned inventory accumulation or
decumulation at Y= 850. Use a diagram.

(ii) For a two sector economy, derive the investment multiplier and show the process of output
adjustments in infinite rounds. 6+6

(b) i) Derive the equation of the IS curve for an economy without government and interpret the slope of

the curve.
ii) Derive the equation of the LM curve and interpret the slope of the curve. 6+6

(c) (i) Interpret the points which are not on IS and LM curves
(ii) Show the effects of an expansionary fiscal policy in IS-LM framework and explain the

transmission mechanism.
6+6

(d) (i) Explain the equilibrium in a classical labor market.
(ii) What are the determinants of output and employment in the classical system? What are the factors

that do not affect output in such a system? 6+6
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Undergraduate Examination 2025
Semester — II (NEP)
CVAC-02-Environmental Studies
(For Regular and Back Candidates)
Time: 3 hours Full Marks: 60

Answer may be attempted either in English, Bengali or Hindi
Questions are of value as indicated in the margin

[. Choose the most appropriate answer: 1 x20=20
1. Who is known as the "Father of Indian Ornithology"?:

a) M. Krishnan b) Salim Ali ¢) R. Sukumar d) Romulus Whitaker

2. Who played a leading role in the Chipko Movement, which focused on forest conservation in
India?
a) Anil Agarwal b) Sunderlal Bahuguna c¢)Medha Patkar d) M C Mehta

3. Acid rain is caused by the presence of which of the following in the atmosphere?
a) Ozone and carbon dioxide ~ b) Methane and ammonia ¢) Sulphur dioxide and nitrogen
oxides d) Hydrogen and oxygen

4. Which of the following units is used to measure noise levels?
a) Dobson b) Decibel c) Richter  d) Pascal

5. The term “eutrophication” is related to:

a) Air pollution due to vehicular emissions b) Noise pollution in urban areas
¢) Excessive growth of algae due to nutrient enrichment in water bodies

d) Increase in the Earth's temperature

6. Which of the following explains species diversity?
a) Variety of ecosystems in a region ~ b) Variety of species in a particular area
¢) Number of habitats in a forest d) Number of water bodies in an ecosystem

7. Which of the following is a non-biodegradable pollutant?
a) Paper b) Vegetable peels  c) Plastic  d) Cotton cloth

8 . The Wildlife Protection Act in India was enacted in the year:
a) 1952 b)1972  ¢) 1982  d) 1992

9. ‘Rann of Kutch’ in Gujarat is known for the conservation of:
a) Tigers  b) Asiatic lions  ¢) Asiatic wild ass  d) One-horned rhinoceros

10. The critically endangered Great Indian Bustard is mainly found in:
a) Assam and West Bengal b) Rajasthan and Gujarat
¢) Kerala and Tamil Nadu d) Uttarakhand and Himachal Pradesh

11. The pyramid of energy in an ecosystem is always:
a) Inverted b) Linear  ¢) Upright  d) [rregular

12. The producers in a terrestrial ecosystem are usually:
a) Carnivores  b) Decomposers  c) Herbivores d) Green plants

13. The International Day for the Preservation of the Ozone Layer is celebrated on:
a) September 16 b) March 22 ¢) June 8 d) August 6

14. Minamata disease is caused by the consumption of water contaminated with:
a)Lead b) Arsenic ¢) Mercury d) Cadmium



)
15. The correct order of the 3Rs is:
a) Reuse — Reduce — Recycle b) Recycle — Reduce — Reuse
¢) Reduce — Reuse — Recycle d) Reduce — Recycle — Reuse
16. Jhum cultivation is commonly practiced in:
a) Western Ghats  b) Central India ¢) North-Eastern India  d) Coastal Andhra Pradesh

17. What is the maximum allowable noise level in residential areas during daytime as per CPCB
norms?
a)45dB  b)55dB  ¢)65dB  d)75dB

18. Which of the following is an example of a fossil fuel?
a) Uranium  b) Biogas ¢) Wind d) Natural gas

19. Zoological Survey of India is located at:

a) Mumbai b) New Delhi ¢) Kolkata d) Chennai

20. The Chernobyl nuclear disaster occurred on .

a) April 26, 1984 b) April 26, 1986 ¢) May 1, 1985 d) March 11,2011

II. Write the Full form of: 1 x5=5
1.IPCC 2.UNCHE 3.UNFCCC 4.GPS 5.EIA

II1. Fill in the blanks: 1 x5=5
1 The Montreal Protocol is concerned with the control and reduction of
2. ‘London Smog’ occurred due to excess in the air.

3. Wildlife sanctuaries, national parks, and biosphere reserves are examples of
conservation in India.

4. Discharge of warm water into a river is called pollution.

5. The Ganga Action Plan was launched in the year to reduce pollution in the river
Ganga.

[V. Answer any five (5) of the following: 2x5=10

1. Name two non- governmental agencies which work on environmental issues.
2. Define Biodiversity.

3. None the four major spheres of the Earth.

4. Name two modern drugs derived from plant sources

5. What is ex-situ conservation? Give two examples.

6. What is Jhum cultivation?

7. What is food web?

8. Name two non- renewable energy sources.

V. Write short notes on any four (4) questions: 5x4=20
| Identify and explain major threats leading to the degradation and loss of forest ecosystems in
India.

. Explain ‘need for mass public awareness’ in environmental management.

. List and explain the essential functions and benefits that forest provide.

. Describe biogeographic classification of India.

. Explain the “3Rs principle” of waste management.

. Explain the cause and effect of ozone depletion in stratosphere.

. Explain global warming and its consequences.

. Discuss Tagore’s concept of environment.

O~ O\ LWL




B.A. Honours Examination
Semester-II, 2025
GEC 2 (CBCS)

(For back candidates)
Subject: Political Science

(Political Theory-II)

Time: 3 Hours Full Marks: 60
Questions are of value as indicated in the margin

Answer any four questions

(15x4=60)

1. Discuss the relationship between liberty and equality. Can the two be reconciled in a

modern democratic state? ‘ (10+5)

2. What are the key features of liberal democracy? Critically evaluate its strengths and
limitations in the context of contemporary politics. (7+8)

3. Examine Rabindranath Tagore’s critique of nationalism. (15)

4. Explain Marx’s theory of historical materialism. How does it interpret the role of class

struggle in the development of human history? (10+5)

|9,

Analyze the significance of the Civil Disobedience Movement in India’s freedom

struggle. In what ways did it differ from earlier movements led by Gandhi?
(10+5)

6. Discuss in detail Gandhiji’s view on Satyagraha.

(15)



B.A. (Honours) Examination, 2025
Semester—II (NEP)
Subject: Economics
Course-MJEC-03(zIntroductory Macroeconomics)

Time: 3 hours Full Marks: 80

Qs. 1.

Qs. 2.

Qs. 3.

Questions are of value as indicated in the margin

Answer any eight questions from the following: 3X8=24
(a) Define stock and flow variables with appropriate examples.

(b) How do you derive NNP at factor cost from GDP at market prices?

(c) What problem do you face in including the Public goods in measurement of GDP? How do you avoid the problem?

(d)
(e)

Depict a two sector circular flow of income with leakages and injections.
If personal income is Rs. 570, personal income taxes is Rs. 90, Consumption is Rs.430, interest payments is Rs. 10 and
personal saving is Rs. 40 then find the disposable income.

() What is meant by GDP deflator? What is the use of it?

(g) Why is profit regarded as a residual factor income? Can profit be negative or zero?

(h) When does a saving function rotate clockwise or anticlockwise? When does it shift?

(i) Given a linear consumption function as C = a + bY ; what restrictions do you need on the values of the parameters?
Explain

() Why are prices assumed to be constant in short run by Keynes?

(k) Consider a project that costs Rs. 100 today (period 0) and yields Rs. 70 in period 1 and Rs. 55 in period 2.If the rate of
interest is 10 percent, find the Net Present Value (NPV).Would the project be accepted or rejected?

() Draw the AD function in a three sector Keynesian economy.

(m) Why did Keynes consider the economy as one of demand determined?

(n) What were mercantilists’ positions on government’s foreign trade policy?

(0) What are the basic features of classical position against the mercantilists?

Answer any four questions from the following: 6X4=24

(a) What is multiple counting in NI accounting? How do you avoid it? Clarify with an example.

(b) How is equilibrium output(Yg) determined in a closed economy without government? How does Inventory adjust to
maintain Yg ?

(c) For a simple Keynesian model without government, if investment consists of both autonomous part and.induced part
and if MPC is 0.7 and marginal propensity to invest is 0.8, do you think that the model is stable?

(d) For C=a+bY and I=I,; derive the autonomous investment multiplier.

(¢) What is “Paradox of Thrift”. Explain the concept while (i) Investment is autonomous (ii) investment is a positive
function of income.

(f) Write brief notes on ‘Marginal Efficiency of Capital’ and ‘Marginal Efficiency’ of Investment’

(g) Write a note on “Loanable Funds” theory of Interest.

Answer any two questions from the following: 16X2=32

(@) (i) IfC=150+0.9Y and I, = 70, what is the level of unplanned inventory accumulation or decumulation at Y= 850.
Use diagram. ‘
(i) For a three sector economy, derive the government expenditure multiplier and show the process of output
adjustments in infinite rounds. 6+10

(b) (i) Assume that in a hypothetical economy GDP is RS. 7000, Gross investment is Rs. 800, Net Investment is Rs.550,
Consumption is Rs. 4500, Govt. Expenditure is 1100 and budget surplus is Rs. 30. Find NDP, net exports, Govt. taxes
minus transfers, disposable income and personal saving.
(ii) Briefly discuss the three measures of GDP. 10+6

(c) (i) Explain Cambridge version of the Quantity Theory of Money (QTM). How is it different from the Fisherian version.
ii) How would you derive the classical AD curve? 10+6

(d) (i) Explain the equilibrium ina Classical Labour market.

(i) What are the determinants of output and employment in the classical system? What are the factors that do not affect
output in such a system? 8+8



Four Year Undergraduate Programme - Economics (Major) Examination, 2025
Semester - II (NEP)
Subject: Economics (Major)
Paper: MJEC04
(Mathematical Methods for Economics II)
(For Regular and Back Candidates)
Time: 3 Hours Full Marks: 80

Answer any four (04) of the following questions
Questions are of value as indicated in the margin

1. Find the critical point(s) of the following functions, and use the second partials test to obtain any local

extrema or saddle point(s):
f(x,y) = x3 — 4y* — 6x + 2xy
1
f(x,y) = §X3 +y2+2xy—6x—3y+4
10+10=20
2. Find the linear approximation L(x,y) and the quadratic approximation Q(x,y) of the following functions:
f(x,y) = x?y + y?, near the point P(1, 3)
f(x,y) = 2x — v, near the point P(1, -2)
10+10=20
3. Suppose a country’s production function is Q = L¥K*~% and the cost function is C = wL + rK, where L

(labour) and K (capital) are inputs, and w and r are their unit prices respectively. Derive the maximum value
function of production and then prove the Euler’s theorem.
10+10=20
4. (i) Derive the Bordered Hessians determinants from a suitable constrained optimization problem.
(ii) Suppose f(x,y) = x? + 2y? is an objective function and 3xy — 4 = 0 is its constraint. Find the
optimum value of the function using Lagrange multiplier.
12+8 =20
5. (i) Derive and prove the Fermat’s theorem.
(ii) Derive the Optimum value function and then verify the envelop theorem in case of following function:
f(x) = —x* +4a® + 2ax
10+10=20

6.() Findx, y,z,t where [} 7] =% ;t]+4[zit x::y]
2

(ii) Suppose A = [3 k] , Find all numbers k for which A is a root to the polynomial g(x) = x* - 7x+10.

. Sheron | e el Sl
(iii) Show that the inverse of the matrix A= [c d] isequal to B = T [—c i ]

6+6+8 =20
7. (i) Suppose A = [:1)) 2] Find a 2x3 matrix B with distinct non zero entries such that AB=0.
2 x 3
(ii)ForA=|4 5 y|,findx,y,z such that A is a symmetric matrix.
o [
(iii) Find a 2x2 orthogonal matrix P whose first row is a positive multiple of (3, 4).
8+6+6 = 20
| B
8. (i) Compute the adjoint of the matrix A = |2 0 1| and the inverse of it.
|

0
(ii) Solve the given equation by Matrix method: 2x — 3y =4, 3x -4y = 5.

(iii) Solve by Cramer’s rule: 2x -z =1, 2x+4y-z=1,x-8y-32=-2.
R 8+6+6 =20




B.A. (Honours) Examination, 2025
Semester—II (NEP)
Subject: Economics
Course-MNEC-01((Introductory Microeconomics)

Time: 3 hours Full Marks: 80

Qs.2

Qs. 3.

Questions are of value as indicated in the margin

Answer any eight questions from the following: 3X8=24

(@
(b)
(©
(d)
O]
®
(®
(h)
()
0
(k)
Q)
(m)
(n)

What is meant by Microeconomics? How is it different from Macroeconomics?
Define production in ordinary sense and in economic sense.

Define demand in ordinary sense and in economic sense.

What is utility and how is it related to consumption?

What are the basic economic questions posed by Prof. Samuelson?
Differentiate between market in ordinary sense and in economic sense.
Define the slope of a demand curve. What is its usual sign?

Explain the concept of marginal utility with an example.

State the law of demand and draw the demand curve.

Why do we consider demand and supply as opposing forces to each other?
What do you mean by fixed costs and variable costs of a firm?.

Explain the effect of a shift in supply on equilibrium price and quantity.
Explain the effect of a shift in demand on equilibrium price and quantity.
Explain a Production Possibility Frontier (PPF) curve.

Answer any four questions from the following: 6x4 =24

(a)

(b)

(©)
(d)
(e)
®
(@
(h)

Define elasticity of demand. What are the different types of elasticities? How do we measure
elasticity of demand?

What is the difference between change in demand and change in quantity demanded? Clarify
it using a diagram.

What are the factors that causes shift in demand and supply schedules?

Briefly Explain the market equilibrium for a commodity with supply and demand curves.
Define a normal, inferior and Giffen good.

Discuss the exceptions to the law of demand.

Write a note on the income Consumption curve using a diagram.

Write a note on the price Consumption curve using a diagram.

Answer any two questions from the following: 16X2=32

(@)

(b)

©

What is an indifference curve? What is conveyed by an indifference map? Using indifference
curves show how a representative consumer reaches her equilibrium price and Quantity in a
two commodity world. 3+3+10
Define price effect, substitution effect and income effect. Using indifference curve analysis
decompose the price effect into substitution and income effect.
6+10

Define a short run production function. Define average product and marginal product and
draw the curves. Using the production function, discuss the three stages of production.

2+6+8

(d) Discuss the basic features of a perfectly competitive market. Analyze the short run

equilibrium of a representative firm under a perfectly competitive market.
6+10
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D)

2)

4)

S)

6)

Questions are of value as indicated in the margin

Answer any four questions
(20x4=80)
Explain the Organic Theory of the State. How does it differ from the mechanistic
view of the state? | (14+6)
Examine the major theories of justice, focusing on their philosophical foundations.
(20)
Discuss in Brief the key tenets of Liberalism? Discuss how liberalism has evolved
from classical to modern forms. (10+10)
Discuss John Austin’s theory of sovereignty. In what ways does it conflict with the
idea of popular sovereignty? (10+10)
Discuss in detail the theories of law. | (20)
What are the different approaches to the study of political theory? Evaluate the

relevance of the approaches in contemporary political analysis. (10+10)



Four Year Undergraduate Programme - Economics (Major)
Semester—1I Examination, 2025
Course: SEEC 02
(Statistical Methods - IT)

Time: Three Hours ; Full Marks: 60
Questions are of value as indicated in the margin
Answer any four questions

1. State whether the following expressions are true or false (with reason): 5x3=15
(i) P(B) <P(AB)
(ii) P (A and B) <P (A or B)
(iii) For two mutually exclusive events P(B) = 1 - P(A)
(iv) For two independent events P(B) = P(B/A)
(v) For two independent events P(A/B) = P(B/A)

2. () For two events A and B, let P(4) = 0.4, P(B) = p and P(A + B) = 0.7 . For what value of
p are A and B (i) mutually exclusive (ii) mutually independent? .

(b) A four digit number is formed randomly using the digits 1, 2, 3 and 4 with no repetition.
Find the probability that the number is even.

(c) The probability that a teacher will take a surprise test in any class-day is 0.1. If a student is

absent on two class-days, what is the probability that he has missed at least one test?
5+5+5=15

3 (a) Four persons A, B, C and D are randomly arranged in a row. What is the probability that
(i) C will be immediately to the left of A (ii) there will be no other person between C and A?

(b) A subcommittee of 4 members are to be formed out of group of 6 men and 4 women. If the
members are randomly chosen, what is the probability that the subcommittee will consist of at
least one woman?

(c) A bag contains 50 tickets numbered 1,2,3,....50. Five tickets are randomly drawn from it and
then arrange in increasing order of their number. What is the probability that the second ticket

is numbered 11? (value of the probability need not be calculated, formula is sufficient)
R e g d

4. (a) There are 7 White and 8 Black balls in 2 box. Two balls are randomly taken out one after
another without replacement. Find the probability of
(i) One is white and the other is black
(ii) The first ball is white and the second ball is black

(b) There are two bags containing some coloured balls. The first Bag contains 5 red and 4 black
balls while the second bag contains 3 red and 7 black balls. A ball is drawn randomly from the
first bag and transferred to the second bag. After this transfer, a ball is randomly picked up

from the second bag. What is the probability that it is red?
8+7=15

0 a0
1



5. (a) State and prove Bayes’ Theorem.

(b) Three boxes with identical appearance contain some white and black balls. The first box
contains 2 white and 4 black balls. The second box contains 4 white and 2 black balls. The third
box contains 3 white and 3 black balls. One of the boxes is randomly chosen and then one ball
is taken out of it. The ball is found to be white. What is the probability that it came from the
second box? 7+8=15

6. (a) If X and Y are independent random variables, show that E(XY) = E(X)E Y)

(b) A man randomly picks up 2 balls from a bag containing 3 white and 5 black balls. He gets
Rs 14 for each white ball and Rs. 7 for each black ball. How much money he is expected to
receive?

(¢) A number is chosen randomly from the set 1,2,....,100 and another number is chosen from

the set 1,2,.....,50. What is the expected value of their product?
5+5+5=15

7 (a) Explain why the following statement cannot be true — “the mean of a binomial distribution is
4 and the standard deviation is 3”

(b) If 5 percent of the electric bulbs manufactured by a company are defective, find the
probability that in a sample of 100 bulbs, none is defective. [Given e > = 0.007]

(c) A dice is tossed 1200 times. Find the probability that the number of ‘sixes’ lies between 190
and 210. [Given ¢(0.78) = 0.782 and $(0.81) = 0.791]

5+5+5=15
8. In the context of sampling, explain the following terms: 5x3=15
(1) Parameter and Statistic
(ii) SRSWR
(iif)) SRSWOR

(iv) Stratified random sampling method
(v) Multistage sampling method




